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M. Phil.Entrance Test - 2014
No. of Questions : 60
qeql ¥ 9@ : 60

Time : 1 Hour Full Marks : 180
g : 1 Hoe] guifs : 180

Note: Each question carries 3 marks. One mark will be deducted for each

incorrect answer.

UgF Ty & o W B geiw weorad 9Ov @ forT UE oim @rer

o

(1)

(2)

(3)

Each question is followed by FOUR alternative answers. Only
ONE of these answers is correct., Select the correct answer and
indicate it in the appropriate circle on OMR Answer Sheet

provided, by darkening the circle, using Ball Point Pen.

HeA% 9991 & AR IHRTS IO RY T ¥ | 399 ¥ aw w a6
a# B 9E 39 g aqen 3@ RY W Swum B o N #
6 GE< 97 § FHRAT B 0T B |

Attempt all questions from 8. No. 1 to 40.

BHH HEAT 19 40 T ¥l U9l Y Her B

Out of three sets of questions on languages (41 to 50 Hindi, 51
to 60 Sanskrit and 61 to 70 English), attempt only two sets.
Thus, a candidate is required to answer in all 60 (Sixty) questions
only.

e |rratt & e (419 50 R, 519 60 Wepa aur 619 70
aﬁsﬁ)ﬁﬁﬁﬁﬁﬁwﬁ%nmaﬁmﬁ%awm
qherelt B Hw 60 meA B Iww 37 ¥y

3 . P‘ Tl 0-
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O1.

02.

03.

04.

If NQXG means LOVE, what does ECMG mean ?

afs NQXG @ a1ef & LOVE, & ECMG @&t ofef & ?
(1) Calm (2). Cake (3) Good (4) Gale

If the population of a village is 600, in which 40% are male, 35% are
female, rest are children. What is number of children in the village ?

Al s Mg @ STHEEA 600 ¥, R 40% gE @@ 35% aftard ¥,
Rt g=X B | MG H qEh o der w1 g7 .
(1) 100 (2) 125 (3) 150 4) 200

Some students planned a picnic, the budget was Rs. 500.00. But 5
students failed to go, and thus the cost for each members increased
by Rs. 5.00. How many students participated in the picnic ?

BB foenfiEl | @ feten @t AT s | aore dfg & suat @
o7 | A 5 femedt Retie # 98 o 991 59 ave ude gvE wW
5599t Pl @d g 1T Qe d Frad fenft ¥ s R ?
(1) 15 2) 25 (3) 20 (4) 30

Thirty men took 20 days to complete a job working 9 hours a day.
How many hours forty men should work to compléte that job in the
same period of time ?

{1} 7 hours, 30 mts. {2) 8 hours
(3) 8 hours, 30 mts. (4) 6 hours, 30 mts.

et @rd @t g s 7 30 oY, 20 RS ¥ gfafdw o € s ¥
Iq T | 40 W B €2 HTT BB I PIH BN GRT HET ?
(1) 7 e, 30 fo=e (2) 8

(3) 8%, 30 (4) 6492, 30 e



05.

07.

08.
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If X2 = 121 and X3 = 1331, Find the value of X ?
gfd X2=1210d X3=1331 &, af X &I |99 =7 BN ?
(1) 11 2) 13 3) 17 (4) 19

Tow poles of heights 6m and 11m stand vertically on a plane ground.
If the distance between their feet is 12 m, what is the distance be-
tween their tops ?

6 Hlo &I 11 Hlo Hag & A QI T Aol SHIF IR ar=ad T2
1o 2 WEl A gl Al 12+io B @) S Fad Wt & &g
@l g @ Be v

(1} 12.8m (2) 13m 3) 14m (4) 15m

Man : Biography :: Nation : ?

(1) Economics (2) History
(3) Geography (4) Agriculture
SAEHT : STl s qSE 7

(1) erefemex (2) ghwerE
(3) ST (4) epiEfasTH

Pointing to a man in a photograph, a woman said, "His brother's
father is the only son of my grandfather." How is the woman related
to the man in the photograph ?

(1) Sister (2) Mother

(3) Aunt (4) Wife

U aEI 7| @ us Afear FHedl §, 39 9% & Uar AR R0

%ﬁ%wgﬂ%,aaq%weﬁaﬁﬁtmﬁaﬁaﬁ%@rmﬁuﬁ
?

(1) &= (2) Hi

(3) =T (4) 9

5 PnTaOo
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09.

10.

11.

].2-

13.

How many times would the two hands of a clock cross each other
between 0300 hrs. and 0900 hrs ?

g€l & & 34T 0300 I & 0900 &5 B e fpadt a7 ferd ¥ 7
(1) 4 2 5 3) © 4y 7

'Vehicle' is related to 'Petrol' in the same way as 'Air Conditioner’ is
related to which of the following ?

(1) Heat (2) Cold
(3) Electricity (4) Temperature
: H S WEY 2T FE TAT HHIET BT Gy
ﬁﬂﬁ-‘iﬁga ) féb‘afﬁ 310208 SV
(1) T (2) 38
(3) faggm (4) QT

List Price of a pair of shoes is Rs. 450. If Arpana paid Rs. 45 as a sale

‘tax for the shoes, then rate of sale tax is :

U SET 450 §o &1 9fE odar 45 B0 &H
W%@qﬁmw%ﬁﬁaﬁwﬁa‘r% kS
(1) 9% 2) 10% (3) 9.5% 4) 11%

The mean of 16 numbers is 8. If 2 is added to every number, then
new mean is :

16H@Taﬁwmm8%luﬁn?&aamﬁ“mf&mwa ar \4ar
e g

(1) 10 (2) 12 3) 14 4) 9

If each sides of a tnanglc becomes half, then decrease in area of a
triangle in percentage, is :

aﬁ%&ﬁf&aﬁraﬁn@iﬁwa&maﬂaﬁcmﬁw% ar Bt
% f=ned H wft afyee & et
(1) 25% (2) 50% (3) 75% @) 60%
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14. The number of diagonals in hexagon is :

15.

16.

' %‘70%@?!%%3mﬁﬁta?ﬁaﬁmaﬁ

17.

Reet wege ¥ Reevit & d@ew § ¢
(1) 6 2 8 (3)

The number 14641 is the product of :

(1) 2 prime numbers (2)
(3) 4 prime numbers (4)
@ 146413 OTE 7 ¥

(1) 29THRY HEAY (2
(3) 4 AT FHEAL 4)

9 4) 10

3 prime numbers
5 prime numbers

3 Y &N
5 THST T

Two high school classes took the same test. One class of 20 students
made an average grade 80%, the other class of 30 students made an
average grade of 70%. The average grade for all students in both

classes is :

o W B A wEned 7 O
frenférgt & ofrga Us 80% HT

Az B

(1) 72% (2) 73% (3)

& 2w form TET| qEh FET B 20
R, @t el e & 30 Ry

& e faenfedt @ ehEd

74% (4) 75%

A complete a work in 12 days and B complete the same work in 24
days. If both of them work together, then the days required to com-

plete the work will be ?

Aﬁ?ﬁﬁﬂﬂﬁﬂ%l2ﬁﬁﬁ‘{ﬂm%€ﬁmﬁ8@ﬂﬂm%24

ﬁﬁﬁ,aﬁeﬁﬁaaﬁ?}sﬁwaﬂﬁaﬂﬁ

Rt & g &t 7

(1) S 2} 6 (3)

¥ & o R

7 4) 8

P.T.O.
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18.

19,

21.

If x¥ = yx and y = 2x then x is equal to :
ﬂﬁ'x’=y‘ﬁmy=2x%€ﬁ'xﬂﬂqﬁ'@"ﬂ:
() 2 ) -2 3) 1 (4) ~1

A dishonest dealer professes to sell his goods at cost price by using a
false weight and thus gain 10%. For weighting a kilogram, he uses a
weight of :

(1) 960 gram (2) 940 gram
(3} 920 gram (4) 900 gram

kmammmﬁ'mﬁmaﬂw%aﬁa%:ﬂwnm%aﬁrw
mwmmlo%aﬁrammmém%uwﬁﬁhmq%mm
X I8 9GNT FHar §

(1) 960 Iy . (2) 940 I
(3) 1920 AR (4) 900 zw

. The number of carpets (1.5 m x 2 m) required to cover the floor of a

hall (15 m x 6 m) will be »

(1) 24 2) 26 (3) 28 (4) 30

Common wealth games of 2014 was held in : .
(1) Glasgo (UK)) (2) Sydney (Australia)

(3) London (U.K.) (4) Delhi (India)

a9 2014 B UwHET Qe g9

(1) TTET (Yodo) & (2) fosh (smeferar) &
(3) W& (Godo) F (4) e (wirea) &
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On which date the Union Budget for n014-15 of India presented in

Lok Sabha ?
1) 9 July, 2014 (2) 10" July, 2014
(a) 12" July, 2014

@3 11" July, 2014
2014-15 %l FHG 6 s G o g e T AL

gy AT ¢
(1) 9 3@, 2014 (2) 10 SjETE, 2014
(3) 11 o, 2014 (4) 12 SE, 2014

23. The number of €
organisation are :

22.

(4) 136
st?

24. 1n which year, f0

. fpg ad 7 A # g
(1) 2010-11 . (2) 201 1-12
(3) 2012-13 : (&) 2013-14

5. Moti Mﬁsjid in the Red Fort at Delhi was built by :

(2) Shahjahan

(1) Jahangir |
(3) Akbar ' ' (4) Aurangzeb
A& A H oy @Xaran Al -

2

P.T.O.
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€ convertg -
Glycogen into glucose

(2) Fat into Blucose
(3) Protein in glucose

(4) Glucoge into Blycogen
TR amipe TR ey 3
(1) ~zhife B BT

T & (2) am(%r)ﬁ’qahﬂ'
(3)Lﬁa=;a%’r=qaﬁqﬁr (4) ‘qaﬁqa%‘ﬁnsaaﬁqﬂ
27. The Scason for Zaid Crops is :
(1) October tq February () March to June
(3) July to October 4) January ¢, June .
TS BET B Ry &
) orrgme @ BT 2 @t @ A
(3) g & HFgqy

, \dhj () Ram Manopg, Lohia
{3) Govind Ballabh Pant (4) Jawahgr Lal Nehpy
‘mmﬁ@w’%m%mw: .

(1) MNeaary T A (2) C difer

@) MNfg= T gy i

10
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30. The River which threatens Bihar the most with floods is ?

31.

32.

33.

(1) Ganga (2) Son

(3) Kosi (4) Gandak

frg 79 ¥ RER @ 999 ST 9% & e § 7

(1) T 2) &=

(3) @t (4) dis®

URL stands for :

(1) Unified Resource Locator (2) Universal Resource Locator
(3) Uniform Resource Locator  (4) Undivided Resource Locator

g STX TS H Y AT T8 7

(1) FiwEes JEE dihel (2)
(3) gHEH fArE T (4)
Speed of a PC is given as :

(1) 1GB (2)
(3) 256 MB (4)
LTSS BT 2

(1) 1Moo (2)
(3) 256 WHo o (4)
RAM stands for :

(1) Real Access Memory (2)
(3) Random Access Memory (4)
VT @ g w87

(1) dow walE qEd )
(3) =9 T HEH (4)

11

ghada dad et
sTfEasee e didex

8 GB
64 GHz

8 Sfiodlio
64 B &dst

Read Access Memory
Random Allotted Memory

Y=q Tdes @

P.T.O.
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34.

35.

36;-

37.

C++ is ?

(1) Web Design Software (2) Business Software

(3) Income Tax Software (4) Object Oriented Language
o o B2

(1) A7 o divedoe 2) ™y Ayt

(3) TVFH a9 dAfvedgc (4) Sf=ge ofiRgRs e
MICR stands for :

(1) Magnetic Ink Code Reader

{(2) Magnetic Ink Character Recognition
(3)  Memory Incorporated Code Reader
(4) Memory Intensive Character Recorder

. 9. W AR, § awed ¥ -
(1) Jmafes g% He f=x

(2) Ffw g% Beex sy
(3) R FEERNRE AT v

Which of the following is not an output device ?

(1) Printer (2) Plotter

(3) Touch Screen (4) Scanner
1 7§ & um STy dasy T & ?

(1) Brex (2) wmEY

3) =w we @) WX

Which of the following have the fastest access time ?

(1) Semiconductor memories (2) Magnetic disks

(3) -Magnetic tapes {(4) Compact disks
Pt 7 & &9 oo a9 e 2 2 o

(1) AHiFsgey (2) Afew Ry
(3) {fes 2wy (4) FAYFe fEwrg

12
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38. Where are data and programme stored when the processor uses them?

39.

{1) Main memory (2) Secondary -inem_c’:ry

(3) Disk memory (4) Programme memory

ST O AEET IR g4 F @ ¥ o srer 9 Sum wef o de
g7 | : |

(1) o= 7% & (2) =HSH AN F

(3) R Ay & (4) W AN

Which of tﬂh'e following are respectively Copy and Paste commands ?

et & Q@ A FH9: il g T H S D7
(1) Alt Cand Ctrl P (2) Ctrl C and Alt P
(3) CtrlCand Ctrl V (4) AltC and Alt V

Term OCR stand for :-

(1) Optical Character Recognition
(2) Open Computer Recorder
(3) Open Character Recorder

(4). Online Character Reader

o ol H.oM. & v B ? |
(1) ot HIFeX Jabrliert  (2) aﬁww?ﬂzmé?
(3) ofaT BFeT HarEx (4) SR e H8

13 ‘ P.T.0.
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41,

42.

43.

485.

46.

Hindi Language

=7 sor
(Q. No. 41 to 50)

YR F F B g9 S w5 orar B ?
(1) & 2) & (3) 1 @) =

Frafafag & @ H9-w a=x ‘sif@’ &1 yafgare =&t 2 ?
(1) =y (2) <Afay (3) gfte (4) =S

‘qE IR, S Fftew orafy o & Ty B ami @ R oRE
& BN :

(1) aEfr-smesr (2) TSHIRST

(3) erearRYr (4) SSTEEIRST

(1) Bsr (2) eT=fE (3) STETY  (4) sfger
“drgl o T ¥ Be........... % W @ P a3
- Rexy = & fog ofke s 8 | o

(1) et (2) fFator (3) ordaT (4) w&To

‘SIS 9 TH T AT @ IugEd ot #nm
(1) T r
(2) SFEEEF &9 # weEgmEl &

_{:nﬂﬁammﬂmﬁ‘qmmrmh

(4) €O ML HHAT

14
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47. ‘Wﬁmﬁm%’g@ﬁw@amﬁ%:
(1)%@%@%@@%%
(2)%@@%%@%@33%{%
(3)%@@@%%%#&31
(4)ﬁﬁhaﬁﬁa¢ﬁmﬁaﬁaﬂgﬁzﬁwwh

48.&935%@3@111%—‘@%%’:

(1) Reepy (2) ArEET e
(3) g et (4) Foreren

49. 'JT H AlT AN - T PeER W wel ovf B

(1) §= == (2) geft m=reT
(3) 587 Rl W Reard 3=y (4) S 9% 9X qEee
50. ‘Waﬁﬁaﬂ’mﬂaaﬁ%:

(1) sgar StaRT & (2) 9 g TE Rerh
(3) RRET &1 gor s (4) AYLH-ITHIT

1 5 P.ITQO-
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Sanskrit Language
g wIar
(Q. No. 51 to 60}

51. “HHodaiitemed AT By FarE g HAH v 7

(1) fersqga™ (2) AR

(3) BrFERNR (4) SmgRTEagiikaEy
52. EHEATAT B & g ?

(1) HETARTE (2) FEaRas

(3) areRfETHTE (4) Rraara
53, ‘AW = Gl Rva: waia -

(1) THE WA IHEOM (2) T: TR TET:

(3) AT THETRTH TA: (4) A A Y
54. YEATERERG ~

(1) o7 o TEsfay (2) TH: UH I

(3) W AW TEBi (4) T9: O Iresfy
55, gvaRaAid -

(1) HElpIeAY (2) W]’E]’éﬁ]’i"rli

(3) fftreprery (4) TErepTEy
56. AT W gdd -

(1) Ry (2) TErRRIEY

(3) TFgEHTAY (4) iy

16
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57. oA a9ty gy -

(1) 3 (2) 4 3) 6 4) 9
58. ‘GETa=Y Fw Hifwerey gomr : ?
(1) FHeeor: (2) ®erTE:  (3) Rt (4) =ra:
59, & goURf: sRer ? |
(1) = 2) e: (3) ®r: @) e
60, ‘FHaT’ s sy e 5 ?
(1) ST (2) SR (3) ¥R (4) w=ef):

17 : P.T.O.
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61.

62.

63.

64.

65.

English Language

HRST wraT
(Q. No. 61 to 70)

Select the word which is nearest in meaning to the given word :

Devout
(1) relevant (2) religious
 (3) skeptical (4) dislodge

Select the word which is opposite in meaning to the given word.

Meticulous
(1) careless (2) thankful
(3) lavish (4) finicky

Choose the appropriate word to fill in the blank space :

He said he would write to us. But he has not written :

(1) now (2) yet

(3) till (4) then

Choose the correctly-spelled word from each group :
(1) Temprature (2} Temperature
(3) Tempratare (4) Temperatere

Instructions :

Choose from the four alternatives the word that has nearly the same
meaning to the given word :

Magnificent
(1) Fearful (2) Obsense
(3) Nefarious (4) Grand

18



M.Phil./14/TEST-A

66. Unique
(1} Unrivalled (2) Wretched
(3) Tremendous (4) Splendid
Instructions :

Choose from the four alternatives the word that best explains the
meaning of the sentence :

67. That which does not bear the name of the writer 3
(1) Unanimons (2) Anonymous
(3) Unique (4) Matchless

68. A speech delivered without previous preparation :
{1)° Spontaneous (2) Memorable
(3) Extempore (4) Unforgettable

Instructions :

Choose from the four alternative the word that best completes the
sentence :

69. Hold the hoi‘se by the.............. ‘

(1) Rein " (2) Reign
(3) Rain (4) Reine
70. Canyou ............. a few lines from Shakespeare ?
(1) Site (2) Sight
(3). Cite (4) Citte

19 | 1,000
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ll.

12-
13.
4.

areafar & ferg fadw
(¥ gf®T & WaW AT gO 9T 497 I9V-9F & 4E Sl @
ey Hiedl-wren arr-anyz 0 @ o o)
o i e & 10 e & o & 3 & e e 7 ol 9w diE € ol i
v g2t T8 #1 YR Qe T R T e T A - e i QR st
T¥I9 H g0 g W &
e a3 feresr WHw wdw-ux & st fan a1 S A R gen s 9y
¥ 7 @l
FY-@F v @ ey mar 1 e 7 m vy st 7 o e &Y g I o e R @
donr JaT-09 @ ¥ gERiET e A
HUA A T FR-GH H FHAH TIH SRO-TS T 4 { et e w el

m~w&mwwﬁv#mmﬁuﬁwwwﬁam#ﬁhm#

Tt #¢ &) wgl-g? Swavaw g qul wv- QAT W HAH w47 92 BT TAT I Q@R
gt et

site U0 HTo TN WY IHWIH Wowl, NyAYICrST HEAT ¥ Wz wew (qfk Y &) wa

STgRAET 0T IHAH SN St THo o T wEm &1 At § aufieierT &t s

wh

Jugfer Wt § WY o oRaeT s s T wior g fed ey ¥ UF sgfan

RIS WT WG AT WG

ov4- ¥ waw vy & & dwievw gwe 72 @ ) weiw v & dwfraw avv & g
so7-u% &7 wAfR ofF®y % gl e 0t g # 3wT-u & vew ye uv Rl 1R

e & srare 97 @ g av

YT W¥ & I & foQ Faet U € g9 B MY &K m%aﬁmqﬁﬁwam

W AT U 39 A Y0l W@ W % IR e qA S

e & 1o uw A wd g St IT agen o o wwEAr 1 A 309 Gedlt wvT w30

=87 & amad &, ot @atea iy & anr 2R @ welt gel &t @l oig &) 8 we T

Hw 123 srdt

tmm%mm-gm%g@qs%mmwmmgﬁaw% sifim 7=

W &

vl & I 9% it T ATe SWT-gF G9ET WA § I &

The GO B ¥ UEe TR Wad § A 99§ amta A s

ofe 5 arrell e & srafad W w1 WA e @, @ 9 favafare g et

&g /A, wnit gt



